Exercise (Week 4)
September 27, 2024

. B3R A:[a,’j]€M3><4,B:[bij]€M4><3 Ho a,'j:i—f—j, bij:i-j.

(a) HRERT s At fr Bt.
(b) F#A (AB)' w8 i row 2 E_column € £ AB 1 3rd column (L B & 2

B

)e XA * (AB)' B = AL B' éhikiz (LA ER) £ AB ¢ 3rd column e

2. - F M S () =apd" 4o faxtag ERY]. HEL n LA TR
fA) & n b= L A"+ aA+aoly, B¢ L, 5 on FFE e

a) £ A 4 B 5 commutative, ZZP Hix 3 & B k[ ¢ 5 AF 40 Bl 4 commu-
* F
tative.

(b) BZE f(x),g(x) € R[x]. # A fv B 5 commutative, & &L f(A) v g(B) 7*
% commutative.

. 1, ifi#j ... . .

3. £ A=Ja;j] % 4> H79 aij:{O, ifis # 13 & 4 F# square matrix B
i BA=AB=14, P fp_A = invertible matrix ® f£ B ; H inverse, it & AL

(a) 3% row g ix A BB A2 chE B row.

(b) H3- B 2= 57 flx) B f(A) 5 REL, ¥ iR HEP A S invertible

4. HE- ji’rﬁ;:n, j\%\rdf}%nrb—slﬁ_’_o

(a) ibl?j{ A ﬂ}r' B ¥ 5 symmetric matrices. Z P AB 5 symmetric matrix % ¥ *&
# A,B i commutative (27 23 ) .
(b) #F#P elementary matrix 7 transpose 7 % elementary matrix (F P R K
*H)% e elementary row operation % % {¢ 2 #7¥f & ©0 elementary row operation
5 ) o TP URE type 7 elementary matrlx &_symmetric.
(c) =¥ symmetric elementary matrices ® ¥R 4p 3k {8 15 5 symmetric ? I 1 *
(a) -] BL e & P i3 symmetric elementary matrices P81 §_commutative.

11 2 1
0 20 0

Bt A

TRELA= T
0 3 1

(a) §1* - & elementary row operations #- A it = reduced echelon form. & = &
i# elementary row operation #7¥} /& 7 elementary matrix.

(b) BT A7l # 4 A"l B & - & clementary matrix A (PR RBHRE) -

(c) F1* (b) ch% % # A B = - & elementary matrix sk ff (3 L kB %KHE ) o



